Bioconcentration of Benzo(a)pyrene in *Chlorella BB* Cells

G. Janikowska, W. Wardas

Department of General and Analytical Chemistry, Silesian Medical University, 41-200 Sosnowiec, Jagiellońska 4, Poland

Received: 31 October, 2001 Accepted: 1 March, 2002

Abstract

BCF₁ (bioconcentration factor after the one day of exposition) value of BaP [benzo(a)pyrene] in strain A-8, *Chlorella vulgaris* Beijerinck 1890 (*Chlorella BB*) was studied. The algae were cultured in a modified Kiihl-Lorentzen liquid medium at room temperature, under continuous illumination and stirring for 24 hours.

The final average value of BCF, equalled 2100 ± 140 for BaP initial concentrations in the range from 0.005 to 0.5 µg/cm³ in the culture medium. Statistical analysis of the results revealed independence of the bioconcentration factor from initial concentration of BaP. The BaP amount determined in the samples after the experiment differed markedly from the initial amount introduced to the mediums.

Keywords: bioconcentration, benzo(a)pyrene, Chlorella vulgaris, algae.

Introduction

Benzo(a)pyrene (BaP), like other Polycyclic Aromatic Hydrocarbons (PAHs), shows the ability to accumulate in plants, animals, soil, sediments of water reservoirs and in aquatic organisms [6, 11, 17, 19, 24]. The presence of detergents or liquid hydrocarbons able to solve BaP in sewage and even in surface water increases its penetration to the plant and animal cells, which explains its comparatively large concentration in food obtained from such water reservoirs, e.g. fish meat [1, 10, 14, 22].

Because of this accumulation BaP concentration increases as organisms take higher places in the food chain [1, 16]. The process of accumulation can be accompanied by biotransformation of BaP to mutagenic and carcinogenic derivatives [8, 15, 18, 22, 23].

Some aquatic organisms such as mollusks, mussels and snails, lacking the possibilities of BaP biotransformation, are especially inclined to cumulate this hydrocarbon as well as other PAHs [2, 23].

The accumulation of environmental pollution in living organisms is estimated by the so-called bioconcentration or bioaccumulation factor (BCF, BF) or by the biological thickening coefficient [2, 9, 10]. The BCF in the aquatic environment is calculated as the ratio of the xenobiotic concentration in the organism or population to its concentration in the medium [7, 9, 17, 19]. The presence of other organisms or other polluting substances in the medium can change the value of BCF (e.g. humus lowers BCFs) [15, 18]. BCF also depends on the contents of lipids in living cells. A greater content of lipids in the organisms causes an increase of the bioconcentration factor for hydrophobic hydrocarbons and also increases the cytotoxic activity [7, 10].

BCF can be estimated on particular days of the experiment, e.g. after the first day of exposure as BCF], after the third day as BCF₃, etc [9], or in the stationary phase by the absorption and desorption processes of xenobiotic in the organism tested [9, 15, 18, 19]. Upon the kinetics of the process investigated, the average value in a given period of time is also estimated [15]. The values of BCF in aquatic environment given in Table 1, for a longer period of exposure (in each case) can reach

Correspondence to: Prof. W. Wardas

Table 1. Selected average values of BaP¹⁾ BCF²⁾ in aquatic environment.

Example	BCF	Literature [10] [22]	
water-fish	11103)		
Trout	920		
Canadian water-thyme	33 125-77304)	[2]	
Guppy	56 850-28 8754)	[2]	
Snails	206 925-28 0664)	[2]	
Daphnia magna	1000	[18]	
Daphnia pulex	13 000	[1]	
Leech (Gillichthys mirabilis)	0.0485	[14]	
Flounder (Citharichthys stigmacus)	0.026)	[14]	

 $^{^{1)}}$ BaP - benzo(a)pyrene, $^{2)}$ BCF - bioconcentration factor, $^{3)}$ theoretical value, $^{4)}$ for initial concentration of BaP 0.04 and 0.2 μ ^dm³, $^{5)}$ after 96 hours of exposure, $^{6)}$ after 1 hour of exposure.

even several hundred thousand. Values smaller than one might be the result of both too short exposure time and smaller inclinations of the organism to bioaccumulation. The aim of this work was to estimate BCF value of BaP in *Chlorella vulgaris* cells in laboratory conditions, at BaP concentration comparable to its concentrations in the wide aquatic environment (in natural water or sewage [20, 25]).

Materials and Methods

Chlorella vulgaris Beijerinck 1890, strain A-8 (Chlorella BB) from the synchronous culture conducted at Department of Biochemistry and Biophysics Silesian Medical University were cultured in a liquid medium of Kiihl and Lorentzen modified by Bohm [4,13]. The algae cultures were grown at room temperature in Erlenmeyer flasks of 750 cm³ in 200 cm³ of medium, closed with corks on cut and additionaly tightened by teflon tape. They were inoculated with a proper amount of Chlorella BB cells from the mother culture equivalent to approximately 20 mg of dry alga biomass, or about 2.4 x 10⁹ cells [9]. BaP acetonic solution (at a concentration of 0.01 % v/v) was added to the cultures to its final concentration in the medium of 0.005, 0.05, and 0.5 µg/cm³. The cultures were grown for 24 hours under continuous illumination with heat-mercury lamp (4800 lx) and continuous stirring (magnetic stirrer). The cultures were centrifuged at 3.5 to 4.0 thousand rpm for 25 minutes (MPW-360 centrifuge). The cell pellet was rinsed three times by suspension in redistilled water and centrifugation (as previously). After

Table 2. Bioconcentration of benzo(a)pyrene in *Chlorella BB* cells in 24 hour culture.

Initial concentration of BaP in culture (c _o) [µg/cm³] (number of cultures)	Wet alga biomass [g]	Content of BaP in wet biomass of alga [µg]	Concentration of BaP in wet biomass of alga (c _g) [µg/g]	Concentration of BaP in medium ¹⁾ (c ₂₄) [µg/cm ³]	Bioconcentration factor (BCF ₁)	BCF ₁ ± SD (confidence interval)
	0.2194	0.4072	1.856	0.00068	2729.37	
	0.3010	0.3870	1.286	0.00070	1838.03	
	0.2543	0.5789	2.276	0.00095	2401.31	
0.005	0.2920	0.4348	1.489	0.00077	1946.41	
0.22	0.2849	0.4877	1.712	0.00080	2145.15	
	0.2280	0.5287	1.880	0.00085	2214.72	2090 ± 437
	0.3033	0.4962	1.636	0.00121	1357.11	(1576 - 2605)
	0.3068	5.200	16.949	0.01355	1250.86	
	0.2937	3.977	13.541	0.008496	1593.81	
	0.3040	3.850	12.665	0.01025	1235.61	
0.05	0.2568	4.125	16.063	0.00439	3659.02	
(n=9) 0.3025 0.2332 0.2481 0.3121 0.2285	0.3025	3.892	12.866	0.008892	1446.92	
	0.2332	4.781	20.502	0.00826	2482.04	
	0.2481	3.328	13.414	0.01099	1220.56	
	0.3121	4.082	13.080	0.00839	1558.62	1840 ± 805
	0.2285	3.797	16.595	0.00784	2116.73	(1387 – 2294
	0.3851	9.619	24.980	0.01140	2191.26	
	0.3722	11.762	31.602	0.00938	3370.86	
0.5	0.2568	6.934	27.003	0.00844	3201.27	
(n=6)	0.2899	5.874	20.264	0.00995	2037.63	
	0.3671	8.767	23.881	0.01050	2275.43	2540 ± 583
	0.2581	7.952	30.810	0.01412	2182.76	(1987 - 3099

¹⁾ volume of medium 200 cm³

the last centrifugation the medium was decanted (from the cell pellet) and the tube sides (when wet) were carefully dried with paper. After that, the weight (analytical balance) of the algal biomass was estimated as the difference between the weight of the tube with and without the algae. The algal pellet was carefully transferred to a mortar. The remains were rinsed by cold phosphate buffer 100 mM, pH 7.5, out to the mortar and after refrigeration in liquid nitrogen homogenized by stirring.

BaP was extracted with cyclohexane from the mixed supernatants (medium and water after washing) and from the alga homogenates. Its concentrations were determined on the base of standardisation curve spectrof-luorometrically by measuring the light emission at the wavelength of λ =426 nm with the excitation wavelength of λ =396 nm. These wavelengths were determined experimentally and did not differ from literature data [12, 21]. The BaP concentrations were recalculated to 1 gram of wet mass of algae and to 1 cm³ of medium. The bioconcentration factor was calculated after 24 hours (cul•••• '-'ration) with the following equation [9]:

$$BCF_1 = \frac{c_g}{c_{24}} \frac{[\mu g/g]}{[\mu g/cm^3]}$$

 $c_{\rm g}$ - concentration of BaP in 1 g wet biomass of alga after 24-hour duration of the culture

c₂₄ - concentration of BaP in 1 cm³ medium after 24-hour duration of the culture.

For statistical processing of the results the analysis of variance (ANOVA) was used. Bartlett's and Fisher-Snedecor's tests were used to compare the variances of the groups of the data.

Results and Discussion

The cyclohexane extracts obtained from the culture medium and biomass of *Chlorella BB* cell were used to estimate the BCF₁. The extracts were characterized by typical fluorescence spectra according to the standard spectrum presented in our earlier work [12].

The results obtained are presented in Table 2. In spite of some little differences among the averages of the series connected with initial BaP concentrations (0.005 - 0.5 μ g/cm³), it turned out to be impossible to find their dependence on the concentration. Statistical analysis shows that the three groups of data (Tab. 2) are homogenous (F_c =2.108 < F_t =3.52 at p=0.05). Thus, there are no significant differences among the groups being compared (Tab. 2). The average value of BCF, calculated for all the concentrations taken together (not the average of the averages for different concentrations) equalled 2100 ± 140 and the confidence interval at the level of 0.05 was found to be 1821-2402.

After the experiment, the total content of BaP (Tab. 2) in 200 cm³ medium and in alga biomass of *Chlorella BB* did not balance with the initial amount of BaP introduced to the medium. This imbalance shows a considerable disappearance of BaP over the period of culture

growth. The quantities recovered from each culture were about 64, 59 and even only 11 % for initial concentrations of 0.005, 0.05 and 0.5 µg BaP/cm³, respectively. This means that a part of BaP introduced into the culture accumulates in *Chlorella BB* cells, another part remains in the medium, and that about 36, 41 and 89% of its initial quantities undergos a biotransformation with the participation of alga cells, or maybe also other processes, e.g. photodegradation. The decrease of BaP observed was greater for its higher initial concentrations.

The BCF₁ values obtained in this work, characteristic for the process (in twenty-four hours), equalls 2100, while the theoretical values calculated for BaP (depending on the computational model, on physical and chemical properties of the xenobiotic, and first of all on octanol-water partition coefficient $K_{\rm OW}$) were between 20,000 and 30,000 [5, 10, 22]. This calculated value does not include many important factors connected with real processes, e.g. cell wall chemical content. The biotransformation which was ascertained in this work is another factor not included in theoretical models [5, 10] and decreasing the amount of BaP inside alga cells is the most probable explanation of this difference.

Conclusions

- 1. BaP penetrates *Chlorella BB* cells and accumulates in them.
- 2. The bioconcentration observed is probably accompanied by biotransformation of the BaP.
- 3. The bioconcentration factor determined (equal to about 2100) is about ten-fold lower than the ones pre dicted from the octanol/water partition coefficient for BaP. This can be explained by biotransformation of BaP in *Chlorella BB* cells.

References

- 1. BIDDINGER G.R., GLOSS S.P., The importance of trophic transfer in the bioaccumulation of chemical contaminants in aquatic ecosystems. Res. Rev. **91**, 103, **1984**.
- BOGACKA T., TRZCINSKA B., GROENWALD M. Toksycznosc i biodegradacja wybranych wielopierscieniowych weglowodorow aromatycznych w srodowisku wodnym. Bromat. Chem. Toksykol. XXIV, 149, 1991.
- 3. BORCHERT J., KARBE L., WESTENDORF J. Uptake and metabolism of benzo(a)pyrene absorbed to sediment by the freshwater invertebrate species *Chironomus riparius* and *Sphaetium corneum*. Bull. Environ. Contam. Toxicol. **58**, 158, **1997**.
- BORNS E., BOHM H., SCHULTZE D.: Untrsuchungen zum Einflusse verscheiedener Nahrlosungs kombinationen auf das Wachstum synchroner Kulturen von Chlorella vul garis. Wiss. Hefte d. Pad. Inst. Kothen. Heft 2, 55, 1973.
- CASSERLY D.M., DAVIS E.H., DOWNS T.D, GUTHRIE R.K. Sorption of organics by *Selenastrum capricornutum*. Water Res. 17, 1591, 1983.
- CHIOU C.T., MCGRODDY S.E., KILE D.E. Partition characteristics of polycyclic aromatic hydrocarbons on soil and sediments. Environ. Sci. Technol. 32, 264, 1998.

- 7. FISHER S.W. Mechanisms of bioaccumulation in aquatic systems. Rev. Environ. Contam. Toxicol. **142**, 87, **1995**.
- 8. FORREST V, CODY T., CARUSO J, WARSHAWSKY D. Influence of carcinogenic pollutant benzo(a)pyrene on plant development: fern gametophytes. Chem.-Biol. Interactions. **72**, 295, **1989**.
- FREITAG D., GEYER H., KRAUS A., VISWANATHAN R., KOTZIAS D., ATTAR A., KLEIN W., KORTE F. Ecotoxicological profile analysis.VII. Screening chemicals for their environmental behavior by comparative evaluation. Ecotoxicol. Environ. Safety. 6, 60, 1982.
- 10. HATTEMER-FREY H.A., TRAVIS C.C.: Benzo(a)pyrene: environmental partitioning and human exposure. Tox. Ind. Health. **7**, **141**, **1991**.
- HITES R.A., LAFLAMME R.E., FARRINGTON J.W. Sedimentary policyclic aromatic hydrocarbons: the historical record. Science. 198, 829, 1977.
- 12. JANIKOWSKA G., WARDAS W. Ekstrakcja i analiza ekstraktow benzo(a)pirenu i jego metabolitow z pozywek i z biomasy hodowli glonu *Chlorella vulgaris*. Bydg. Tow. Nauk. Prace Wydz. Nauk Techn Seria A, 27, 53, 1999.
- 13. KUHL A., LORENTZEN H. Handling and culturing of Chlorella. Methods in cell physiology. 1, 159, 1964.
- 14. LEE R.R., SAUERHEBER R., DOBBS G.H.: Uptake, me tabolism and discharge of polycyclic aromatic hydrocarbons by marine fish. Marine Biol. 17, 201, 1972.
- LEVERSEE G.J., GIESY J.P., LANDRUM P.F., GER-OULD S., BOWLING J.W., FANNIN T.E., HADDOCK J.D., BARTELL S.M. Kinetic and biotransformation of benzo(a)pyrene in *Chironomus riparius*. Arch. Environm. Con tam. Toxicol. 11, 25, 1982.
- MALINS D.C.: Metabolism of aromatic hydrocarbons in marine organisms. Part IV. Biologic effects on marine ani mals: health implications for man. Ann. NY. Acad. Sci. 298, 482, 1977.

- MANCHA R., DIAZ G, ARESE A. Prediction of bioac cumulation potential of some aromatic hydrocarbons in indi cator species of ecotoxicity. Bull. Environ. Contam. Toxicol. 59, 422, 1997.
- MCCARTHY J.F. Role of particulate organic matter in de creasing accumulation of polynuclear aromatic hydrocarbons by Daphnia magna. Arch. Environ. Contam. Toxicol. 12 (5), 559, 1983.
- SHEEDY B.R, MATTSON V.R., COX J.S., KOSIAN P.A., PHIPPS G.L., ANKLEY G.T. Bioconcentration of polycyc lic aromatic hydrocarbons by the freshwater oligochaete *Lumbriculus variegatus*. Chemosphere. 36 (15), 3061, 1998
- SLIWIOK J. HPLC- w oznaczaniu WWA w wodzie. Chromatografia cieczowa HPLC i TLC w ochronie srodowiska. MERCK. Katowice, 5-7, 1995.
- SOKOLOWSKA R. Wyodrebnianie wielopierscieniowych weglowodorow aromatycznych z kapusty. Roczn. PZH. XXX, 6, 607, 1979.
- SPACIE A., LANDRUM P.F., LEVERSEE G.J. Uptake, depuration and biotransformation of anthracene and benzo(a)pyrene in bluegill sunfish. Ecotoxicol. Environ. Safety. 7, 330, 1983.
- Toxicological profile for polycyclic aromatic hydrocarbons, update. U.S.A.: Department of Health and Human Services, Public Health Service, Agency for Toxic Substances and Dis ease Registry 1995.
- 24. UGRECHELIDZE D.S. Metabolizm ekzogennych alkanov i aromaticeskich uglievodorov v rastieniach. Miecniereba Tibilisi, **1976.**
- ZAWADZKA H., BARALKIEWICZ D., ZERBE J. Wystepowanie policyklicznych weglowodorow aromaty cznych w wodach powierzchniowych w Polsce. Gosp. Wod. 8/9, 264,1980.